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	' �rednica podziałowa     d=mz
� ' �rednica wierzchołków  da=d+2ha "�' �������� (���
� ' �rednica podstaw df=d-2hf                     hf-�������� ����
! ' ���
����	����
����� db=dcosα

)

mzd = αcosddb = aa hdd 2+= ff hdd 2−=
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cs '(�3!��� � !�	��
�34 ������	�� ����				"�*�-$1α/

mpt π= αcostb pp = mxyha )( +=

cmxyhf +−= )( cymh += 2
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8 
�	x=0 ���
�	!���	��������	�����	ha=ym      hf=ym+c
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8 
�						y=1 � !�	���$����					h=2,2m
y>1 � !�	�������
y<1 � !�	������

= ��(� > !�	������� ����	������ �������	�� ���
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